EE 306"{ \ Quiz 1 \ SP[‘IWQ 2060177

G Sketreh the blj\tw& X(ny 22400y —uin-5) - Uin- %)

vy " v KRy = Z {tn-5R)
= | i A |k
9 iy = z 04 Sm-5 !ﬂ>
om0
the rule,

b
@ A &\Scfe“r&h“m gﬁs}cew\« 1S ci€q<fthf’ vk) ) "“‘"::]"“"9' Lﬁ“‘)
Viny = ~X(m')+3X Da—-—-xm-z‘)

%k€+c‘/b'{'l/\€ oo'f’{)o"(i S)lV\J piao‘Uceoﬁ« brg ll’lPU{' gijhmk

4
QQ}'L y 5 6 7 8 n

1W/hDVL V'\.QM

@ C\QSS\Q«Q_ The S‘GS&VY\ as 1) L le /.h;«y'ff-\/ﬂ-wg/’l/t”)

) Trme- Thvaxi
?) skable { vnstable &
5 Caugﬁj{/m caus o

®) Repeat P10‘<)\€WL® Sor the 5‘35‘”“ W b{) the role %Cﬂ) VL X(@
that

k’_,_——-—-i-

knoton LT3 SﬂSWm avd. sbserve

(©) Vo coserte anon " )
| 4?1\ e I 413\12

. o |
Me o("\(‘jt ‘Hﬂﬁ OUt"PO‘t 4 ‘Hﬂe S'ﬁser'WL gmr iV‘PU‘k:

@ T[Ae |WlfJU‘S€ fesponse of o LT &‘ﬁbhgw‘ '5) Yind. the system Qui‘FUt
Proohkeot by Papats ZI 1

e e

AL |
o 13 . — o |




